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Condense each expression to a single logarithm.
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Expand each logarithm.
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Solve each equation."Round your answers to the nearest ten-thousandt. -
1) 177 +9 =65 12) 12"*19 4 =380
1= Ste — log 56 =5V _1ae S iegnst=n o
'?ZD:}; =5v— 0.2°%2=v l.?%BQCf =n +10
13) 14"*° —8=32 14) 6¢"*5 =26 -2 219 =)
¥ _yp —s lua.q'fo——)(*-ﬁ a\va_ el
- 198 =X +5S

]5)8_48 =i o l. Ubb3Y =V+S
(e“r- 15.2%5 ~3.5333 =v

?N15.25 =R =

2'_}2‘*5% =R a.

0. 340 =al)

© 2014 Kuta Software LLC. All rights reserved. Made with Infinite Algebra 2.




Solve each equation.
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Identify the domain and range of each. Then
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Find the inverse of each function.
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sketch the graph.
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